Efficiency vs dr

x 0.05
J
9.045

o N i I
= [ . .[—=— DOQNM_mKHIt_I loriginal
© 12| —— DOM mkFit_TT JanUpdate-noErr
@ o —_— D8M_mkFit_TT JanUpdate-statErr
1 - || —— DQM_mkFit_TT_JanUpdate-s
0.8 -4+ H Mull .
C il 11
10°° 1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

5 0.0%
o
9.009
3.008
(]
®.007
=
%.006
0.005
0.004F
0.003F
0.002F
0.001E -+
Qf
1.2
1

0.8
0.6

Ratio

O[T T[T T

N




	Contents
	Page 1


